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2AMd: DS
M DsEd e
S FHALE HE Y A (FRBSLHIN) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o244 ZSHELY 25Xl 10,000, 000& 10,000
401 Al HIZ 201 8] 80,000 200,000 A 120,000
01 A& HI 80,000 200,000 A 120,000
OZANSE=RE =4 50,000,000& 50,000
O3g=XE FA2e 30,000, 000& 30,000
FAE LMY 20,000 0 20,000
401 Al HIZ 201 Y] 20,000 0 20,000
01 A& HI 20,000 0 20,000
OZthel 3YFXE ZHSAH(EIES & WE
8 HAE 89) 20,000,000& 20,000
AR BE=XHE =4 (HEH) 3,300,000 0 3,300,000
< 2,500,000
s 800,000
401 Al HI K 201 I 3,300,000 0 3,300,000
< 2,500,000
s 800,000
01 A& HI 3,300,000 0 3,300,000
OZE8 sd=Xg XdSA 1724
3,300,000, 000& 3,300,000
< 2,500,000
s 800,000




